RealSYS RM 60xx Series Modbus MAP

Input Register (Fuction Code = 0x04)

Data: 2012.7.20

address = Al Read/Writer Hgod X| & Fuction
30001 0x0000 ooy /O R HO| HEX HEHZ ME Read ALL 0x04
30002 0x0001 D2 IHHA™ 0x0100 = 1.00 ™ Read ALL 0x04
30003 | 0x0002 otz 20 A o= 0K 2121 (WORD HEX) Read RM6017,6154A 0x04
30004 0x0003 ofgz2 1t ofdZ 1 18It 22 (WORD HEX) Read RM6017,6154A 0x04
30005 0x0004 ofgzZ 1 =2 < OofgZ 1 18K 2 (WORD HEX) Read RM6017,6154A 0x04
30006 | 0x0005 ofg=a U3 MY of= 1 1HKE 212 (WORD HEX) Read RM6017,6154A 0x04
30007 0x0006 otz Qa4 K ofdZ 1 18ixd 22 (WORD HEX) Read RM6017 0x04
30008 0x0007 ofgz 1 =5 K< ofgZ 1 1Bk 2 (WORD HEX) Read RM6017 0x04
30009 0x0008 Ofg21 &6t ofg 21 1Bk 2 (WORD HEX) Read RM6017 0x04
30010 | 0x0009 eI OF=tE@ 1 18§ 912! (WORD HEX) Read RM6017 0x04
15bit = 158 x{ 2ol CHet CIX|E = 2HEl RM6050,6052
300011 | OxO00A CIX|E 4= Read 6053 6054 0x04
Obit = 0% A lof Ch3t CIXIE 9J2iatey '
Holding Register (Fuction Code = 0x03)
address = Mg Read/Writer Ha2oH X| 2! Fuction
40001 0x0000 oft2 ] =Hox g Ofr2 1 OHHAY =2 (WORD HEX) Read/Write RM6154A 0x03,0x06
40002 0x0001 otz =21 K of2 1 1HKe =2 (WORD HEX) Read/Write RM6154A 0x03,0x06
40003 0x0002 otz =22 xjd Oft2 1 2HA| e =2 (WORD HEX) Read/Write 0x03,0x06
40004 0x0003 Otz =33 1 ofdZ 1 3Bitd =2 (WORD HEX) Read/Write 0x03,0x06
40005 0x0004 oft2 ] =414 Of2 1 48K =2 (WORD HEX) Read/Write Moo oo 0x03,0x06
40006 | 0x0005 ofgE 1 =85 Y Oft2 1 5HIx|Y £2{ (WORD HEX) Read/Write | ' = % 0x03,0x06
40007 0x0006 otz =26 ke Ot 27 6HHA|Y =2 (WORD HEX) Read/Write 0x03,0x06
40008 0x0007 Otz =7 Mg Ot 21 7HAjY =2 (WORD HEX) Read/Write 0x03,0x06
15bit = 15t x§j'20f Cist CIX|E =2 AEY ‘ RM6050, 6056,
40009 0x0008 CX g = Read/Write 6063 0x03,0x06
Obit = 01 x§'dof CHE CIX|E Z ey
40010 0x0009 Reset Stauts T2 2 2| AIAER Read/Write ALL 0x03,0x06
x| 42| 15bit - Watchdog Enable A7
40011 0x000A Host WatchDog (15bit = 1 O|™ Enable, 00| = Disable) Read/Write ALL 0x03,0x06
51| lbyte - time A7 ( 1bitg 0.1s)
40012 0x000B ResetA| Saferty Value SAE Of3] LAAl C|X|E =2 2+ AX Read/Write RM6(235023,36056, 0x03,0x06
SUIH(ID) & S {&
(Default = 0x106)
0x(ID)03 = 1200 bps
£ 412 H(A 9] 1byte) 0x(ID)04 = 2400 bps ‘
40013 0x000C £ A1 (512 1byte) 0x(ID)05 = 4800 bps Read/Write ALL 0x03,0x06
SUH Tl1Lby
0x(ID)06 = 9600 bps
0x(iD)07 = 19200 bps
0x(ID)08 = 38400 bps
0x(ID)09 = 115200 bps
X & MEf Enable (5| HIE SEf 0HAY )
(Default = 0xff)
40014 | 0x000D * LEnable 0x0001 = '0'# A St Enable Read/Write RM6017 0x03,0x06
0x0002 = '1'®H k{3t Enable
Oxff = BE x{Hoj Cial Enable
0x01=+10V, 0x02=+5V, 0x03=+1.25V
40015 | ox000€ | opgza mmie mm 0x03:1615:;\\//, %Si; ili\s/rn(;ilgxie;:;;\(/)m/-\ Read/Write RM6017 0x03,0x06
0x14 = 625mA, 0x15 = 126mV, 0x16 = 20mA
40257 0x0100 o2 9120 Offset ST g0 CisH Offset gf M™ Read/Write RM6154A 0x03,0x06
40258 0x0101 O 21 @181 Offset AW Lol Ci st Offset 7f MH Read/Write RM6154A 0x03,0x06
Coil Register (Fuction Code = 0x01)
address =2 M Read/Writer Hagnd X| €l Fuction
0x0000 CIX| & =0 112 OxFFOO0 = =21 ON, 0x0000 = =2 OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0001 CIX 8 =31 1< O0xFFO0 = Z2] ON, 0x0000 = =2 OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0002 CIXE =22 1< 0xFFO0 = Z=2{ ON, 0x0000 = =2} OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0003 CIX| g =53 114 OxFFO0 = Z=2{ ON, 0x0000 = =2 OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0004 CIX| & =34 12 OxFFOO0 = =21 ON, 0x0000 = =2 OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0005 C|X| & =35 1< O0xFFO0 = Z=2{ ON, 0x0000 = =2 OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0006 CIX & =36 g O0xFFO0 = Z=2{ ON, 0x0000 = =2} OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0007 CIX| g =57 14 OxFFO0 = Z=2{ ON, 0x0000 = =2 OFF Read/Write |RM6050,6056,6063| 0x01,0x05
0x0008 CIX| & =48 xj 2 OxFFOO0 = &2 ON, 0x0000 = =2 OFF Read/Write RM6056 0x01,0x05
0x0009 CIX 8 =39 1< O0xFFO0 = Z2] ON, 0x0000 = =2 OFF Read/Write RM6056 0x01,0x05
0x000A C|X| & =210 xf< OxFFO0 = =2 ON, 0x0000 = &3 OFF Read/Write RM6056 0x01,0x05
0x000B CIX Y E311 12 OxFFO0 = 2! ON, 0x0000 = =2 OFF Read/Write RM6056 0x01,0x05
0x000C C|X| g =212 xf< OxFFOO0 = &2 ON, 0x0000 = =2 OFF Read/Write RM6056 0x01,0x05
0x000D C|X| g =213 x4 O0xFFO0 = Z=2{ ON, 0x0000 = =2 OFF Read/Write RM6056 0x01,0x05
0x000E CIX & =214 12 0xFFO0 = 2] ON, 0x0000 = =2} OFF Read/Write RM6056 0x01,0x05
0x000F C|X| & =215 xf< OxFFO0 = &2 ON, 0x0000 = =2 OFF Read/Write RM6056 0x01,0x05




